In the following question, some part of
the sentence may have errors. Find out
which part of the sentence has an error
and select the appropriate option. If a
sentence is free from error, select 'No
Error'.

Playing sports and doing any form (1)/
of physical activity can trigger (2)/ the
production of endorphins. (3)/ No error
(4)

A1l B. 2

C 3 D. 4

Ans. B

Za

In the following question, some part of
the sentence may have errors. Find out
which part of the sentence has an error
and select the appropriate option. If a
sentence is free from error, select 'No
Error'.

During the later 19th and early 20th
centuries, (1)/ forest preservation
programmes were established (2)/ in
British India, the United States, and
Europe. (3)/ No error (4)

Al B. 2

C. 3 D. 4

Ans. A

3.

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate
it by selecting the appropriate option.
She was miserable she didn't
tell him.

A. in B. but
C. while D. with

Ans. B

4.

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate
it by selecting the appropriate option.
Despite his pleas, she looked

his insincere apologies.

A. on B. to

C. around D. through

Ans. D

S

In the following question, out of the
given four alternatives, select the one
which best expresses the meaning of
the given word.

Cogent

A. Invalid

B. Effective

C. Inconclusive

D. Unlikely

Ans. B

6. In the following question, out of the
given four alternatives, select the one
which best expresses the meaning of
the given word.
Precedence
A. Uprise
B. Insignificance
C. Present
D. Priority

Ans. D

7, In the following question, out of the
given four alternatives, select the one
which is opposite in meaning of the
given word.
Exorbitant
A. Expensive B. High
C. Crtel D. Modest

Ans. D

8. In the following question, out of the
given four alternatives, select the one
which is opposite in meaning of the
given word.
Gratify
A. Satisfy B. Enchant
C. Disappoint D. Pamper

Ans. C

9. Rearrange the parts of the sentence in
correct order.
When the
P : demonstrate that these are wholly
inhuman
Q : state identifies some practices
R : as incompatible with the ‘civilised’
norms, it must
A. PQR B. QRP
C. RPQ D. QPR

Ans. B

10. A sentence has been given in

Active/Passive Voice. Out of the four
given alternatives, select the one which
best expresses the same sentence in
Passive/Active Voice.

Kiara must deliver the needles.

A. The needles must be delivered with
Kiara.

B. The needles must be delivered by
Kiara.

C. The needles should deliver by Kiara.
D. The needles are delivered by Kiara.

Anc R



11.

A sentence has been given in
Direct/Indirect Speech. Out of the four
given alternatives, select the one which
best expresses the same sentence in
Indirect/Direct Speech.

The principal said, “I want to meet her
parents.”

A. The principal wanted to meet her
parents.

B. The principal said that he wants to
meet her parents.

C. The principal said that he wanted to
meet her parents.

D. The principal asked if he could meet
her parents.

Ans. B

12.

In the following question, a word has
been written in four different ways out
of which only one is correctly spelt.
Select the correctly spelt word.

A. Encouragement
B. Ancouragement
C. Encouragemant
D. Encourragemaent

Ans. A

13.

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.

The masses of people accept the most
absurd ideas truth, providing
they are gravely asserted by some one
claiming authority. The most illogical
ideas are accepted dispute or
examination, providing they are stated
solemnly and . Particularly in
the respective fields of religion and
politics do we find this blind of
illogical ideas by the multitude. Mere
assertion the leaders seems
sufficient for the multitude of followers
to acquiesce.

absurd ideas truth, providing
A. as B. like
C. such D. just

Ans. A

14,

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.

The masses of people accept the most
absurd ideas truth, providing
they are gravely asserted by some one

claiming authority. The most illogical
ideas are accepted dispute or
examination, providing they are stated
solemnly and Particularly in
the respective fields of religion and
politics do we find this blind of
illogical ideas by the multitude. Mere
assertion the leaders seems
sufficient for the multitude of followers
to acquiesce.

ideas are accepted
examination,

A. within
C. without

dispute or

B. not
D. by

Ans. C

15.

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.

The masses of people accept the most
absurd ideas __ truth, providing
they are gravely asserted by some one
claiming authority. The most illogical
ideas are accepted dispute or
examination, providing they are stated
solemnly and Particularly in
the respective fields of religion and
politics do we find this blind of
illogical ideas by the multitude. Mere
assertion the leaders seems
sufficient for the multitude of followers
to acquiesce.

solemnly and
the

A. authoritatively
B. authoritative
C. authority

D. authorities

_. Particularly in

Ans. A

16.

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.

The masses of people accept the most
absurd ideas truth, providing
they are gravely asserted by some one
claiming authority. The most illogical
ideas are accepted dispute or
examination, providing they are stated
solemnly and Particularly in
the respective fields of religion and
politics do we find this blind of
illogical ideas by the multitude. Mere
assertion the leaders seems



sufficient for the multitude of followers
to acquiesce.

find this blind
A. acceptance
C. acceptor

of illogical ideas
B. accept
D. acceptant

Ans, A

17.

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.

The masses of people accept the most
absurd ideas truth, providing
they are gravely asserted by some one
claiming authority. The most illogical
ideas are accepted dispute or
examination, providing they are stated
solemnly and . Particularly in
the respective fields of religion and
politics do we find this blind of
illogical ideas by the multitude. Mere
assertion the leaders seems
sufficient for the multitude of followers
to acquiesce.

Mere assertion the leaders
seems

A. with B. by
C.to D. at

Ans. B

18.

In the following question, out of the four
alternatives, select the alternative
which best expresses the meaning of
the idiom/phrase.

Fire the imagination

A. Do something unbelievable.

B. To destroy a person's dreams or
ambition by giving discouraging advice.
C. To make someone feel very
interested in something and excited
about it.

D. Advice someone to be more practical
in an effort to tackle a problem.

Ans. C

19.

In the following question, out of the four
alternatives, select the alternative
which best expresses the meaning of
the idiom/phrase.

Pulling your leg

A. To create trouble for others.

B. To succeed by making others fail.

C. To trick or lie to someone in a playful
way.

D. To beg for a favour.

Ans. C

20. Inthe following question, out of the four
alternatives, select the alternative
which is the best substitute of the
words/sentence.

A deep cut or tear in skin or flesh
A. Laceration

B. Termination

C. Cessation

D. Desistance

Ans. A

21. Inthe following question, out of the four
alternatives, select the alternative
which is the best substitute of the
words/sentence.

Barely sufficient or adequate
A. Scant

B. Deluge

C. Plethora

D. Surfeit

Ans. A

22. Inthe following question, out of the four
alternatives, select the alternative
which will improve the bracketed part of
the sentence. In case no improvement
is needed, select "no improvement".

I worry that social media (is killing)
creativity.

A. is killed

B. are killed

C. was kills

D. no improvement

Ans. D

23. Inthe following question, out of the four
alternatives, select the alternative
which will improve the bracketed part of
the sentence. In case no improvement
is needed, select "no improvement".
Partition (has been billed) as a
distressing phase in the subcontinent’s
history.

A. have been billed
B. has being billed
C. has been bill
D. no improvement
Ans. D
24. The question below consists of a set of

labelled sentences. Out of the four
options given, select the most logical
order of the sentences to form a
coherent paragraph.

When we use our
A-beauty to group others, we
B-personal standards for



C-promote a kind of apartheid

A. ACB B. BAC

C. ABC D. CBA
Ans. B

25. In the following question, four words
are given out of which one word is
correctly spelt. Select the correctly spelt
word.

A. incommunicabal

B. incommunicable

C. incommunicable

D. incomunicabal
Ans. B

26. A=faf@a ua & v aiv [reai & &
Haferd ereq JaA H AT

qfgdr :Imer ;P ?

A. I : gigar B. g3r : 919
C. W : T D. 3=
FAC

Ans. D

27. AFITITET 9 & f&U v [heul & &
T HEAT I7A & giA|
41 : 123 ::?:7

A. 31 :93 B.23: 75
C.29:95 D. 13 : 45
Ans. A

28. [Afaf@a g2 7 RU v [edt & &
AT 3eR/37ERT H IiAT|
GPQ : ENO: :LNM:?

A. IKJ B. JLK

C. MON D. OQP

Ans. B

29. AFATATRT 9T & RU v [eheul &
fawys oreg 1 gAT|

A. ST B. 3aRTe

C. sidr D. ¥g

Ans. B

30. A/ feU a1y gea A, IR H@Ed oA fou
T g (<) & SR IR & g (-) F Rl
IR & 8 eI ¥ aF /A ¥ g B

et 38T U dh\fATH & IR W @7 g
few v fasedt & & et &1 glav|

A. 62 - 60 B.74 - 70
C. 18 - 16 D. 34 - 32
Ans. B

31, fArafaf@a g # 6T a0 faskedl & @
fawa 37eR/31eRT 1 gAT|

A. VUTS B. RQPO
C. NMKJ D. IHGF
Ans. C

32, feU v fashedl & &, AsCHIT & AR,
SleT AT 2T6G HTAH FAHA W HTIM?
Expiration
Expertise
Exposing
Exposed
Explosion
. Expiration
. Exposed
Ans. D

33. fAFrAof@d T & fev 7w 9ol & &
e 31 AT M|
91, 73, 164, 237, 401, ?

B. Explosion
D. Exposing

OP v A ONE

A. 720 B. 638
C. 432 D. 747
Ans. B

34. Tk TR fear s &, 9@ @ wh ug
oo g Ru v fwedt & & 95 @@
e AT, St 3RTHA A T W

HY, JV, LS, ?, PM

A. MP B. NP
C. MN D. PK
Ans. B

35. Iy T #Rd T dAAT G HT AT
11:13 §| 153 qd, gy o1 = 1 31
HT AT 17 @ 21 ¥7| YN AT qTAT I
(asft &) T 8?7

A. 66 B. 63
C. 51 D. 78
Ans. A



36. oU 91T fAshedl & & d§ Usq AT S
U 31T Asc & 37ERT T YA Hlah T8] TATAT

ST Tl &

Commissioner

A. Common B. Some
C. Miss D. Trainer
Ans. D

37. T fafdse #g ameT #, “INDUCE” &l
“MRHYGI” for@r Jrar g| sd &I & A
“DEFECT” & f&rd YR for@r Sreem?

A. XGIRIB B. BLKTKC
C. HIJIGX D. RFGAGB
Ans. C

38. frdl fRaa &5 oW H '+, '+ #:
Taid #ar g, ', X' # uEid & g, '+,
'+ @ eI T § AR %, - A 9eiRia
AT g| PFafei@d g & 3R Ad |
9+4-30+10x13 =7

A. 46 B. 8

C. 30 D. 49

Ans. B

39. ArAfaf@d T e d §| 59
FHIAIOT &l TEI el & fow fohet ar
I8l & 398 & 3cAT-Scoll e
rfgu?

8-4+25+12x2=1

A. + and x B. + and -

C. +and = D. -and +

Ans. B

40. ¢ 11*8 = 6, 19*%7 = 24 3R 14%*6 =
16, d@r 12*9 & AT ATT |

A. 18 B. 12
C.8 D. 6
Ans. D

41, rafaf@a & @ @ia @1 ug & = g=h
& %A & AR 87

ZWXYXYXY, XWZYXYXY, XYZWXYXY,
XYXWZYXY, XYXYZWXY,
A. XYXYXYXY

C. XYXYXWZY

Ans. C

B. ZWXYXYXY
D. XWZYXYXY

42, er &Fgal T 3R U ts & &5 & Adedr
g| ¢FEr T gharor fgemr & 1 fAY. & amEr
X &, T 30 gfgel 3R A3 Sl & 3R
3 3.5 fh.a, S §| 56 g R U g
fear & 2.5 .. Fr gmEr adr §, e 3
H A3 S § 3R 3 4 TR i ognr e
g, ™ g 39 & Srft 3R Hg o & 3R
1Y 6 fRAY. i I FEAr §] T T & ey
#H ey U Fgl g7

A. 3 fh.AY. 3

B. 5 f.#). gfayor

C. 5 fra 3@X

D. 3 .. gfeor

Ans. C

43, 9T H & ®YT T I § o 3 ar
fasey [ 3T I fAeprer ar & 39t AT §
f gl FUT I & drg 98 A AT
a2t & et aelid g1 §f| et ok e
g @ Gw st fasesf F ¥ Fi-avsla-
fAfRTa ¥ & FHYUT gaRT TET TSI ST FeheT
g/shd 8, Ife #15 g

FYUT I IS Y cariEesd Uifod R =Tal giam &
FYA 1I: FS TR Tollesh gld §

fishy I: Fo difele W gld &

fasay I1: gsfy IR gifes X 8l &

A. Fad fasey [ T8r &

B. haol oSy 11 TEr &

C. gt sy I 3R 11 |y &

D. a1 ar fashy I agr & a1 & fasay 11
Ans. D

44, fArafaf@d mpfd A, 3™ TARE
foaister & wefdid #tar 8, ga geeeed &I
YeRid &Y &, Feger dAy A vefda #ar @
AR T HRAIT Fr ISiNd FRar | 7aRT Hr
Hil A FHE 3 ARG HAAsiel H gefdd
AT & S AFT 87




% G
LA
W,

A. BE B. KAB
C.B D. AD
Ans. C

45. T IphA T &, oA @ e ug
e §| QU v Rwedl ¥ & I8 ¥ Aoy
AT, ST 3fehd B QW |
XQC, UNZ, RKW, OHT, ?

A. LFP B. MED
C. LEQ D. MFQ
Ans. C

46. Afaf@a gea & fGu 10 [{veui §# &
dcd 3 AT S|
57, 52, 45, 36, 25, ?

A. 14 B. 12
C. 15 D. 17
Ans. B

47. 7 o av wed #, AT FEAHT & IR
g fU T §| 9% FHg A @y T el
TEIT ugell e ¥ fRdr we do/fAma @
gaftd g| cieT 34T T doh\ad & 3MUR )
AT §| T 1T fAshedl & @ et 1 gfav|

A. (13, 25, 51) B. (17, 33, 67)
C. (10, 19, 39) D. (7, 13, 29)
Ans. D

48. afg T g9or A MN @ 9 @I ST o
&1 I 3R HTAIT A F -y 3R g
R &1 @ gfafass gefr?

M

N

4
I\ d
A. B
Al
N
L. D.
Ans. B

49, AFfafad 3 T 7 F Fa @ g
feT a1T uee T # & G g I FART e
ST Hehcl?

- |[HH|OFX

@
P [oF

A. B
o
7}(_
O O
C. Q D.
Ans. D

50. Uk 2[eq hael Ush HEAT-HHE GaRT G2
T §, ST T RQheur & & frdy we & fe=m
T §| faedl A fRU v HEIr-Heg R &
ar gelt ganr gafw 7w §, 3 f feuw arw o
3MeEl A §| 3Megg-1 & FFH 3R dicked
TEIT 0 ¥ 4 3Tegg-11 61 5 9 §| T 3MMcye!
d Th HER I Ugel 3THI dfed 3R ¢ &
TIFH HEAT GaRT SITAT ST HehdT | 3GeRUI
& fau D’ & 24, 41 3 garr g S
Thdl § T ‘T’ & 96, 87 3fe garr gafar




ST Fehdl | 38 RE & e e § v
A "GASH’ & TIT @Hg 1 Ugdleiall &

Matrix-I
g -1
0|12 |3 |4
0O | C|G|D|K|M
1|I |B|L |H|B
2 |K|B|L|[B|D
3|1 |A|C|D]|E
4 |L |D|G|A|E
Matrix-11
g -1I
516|718 |9
5|/P|Q|U|W|R
6 (P|Z |V |P |W
7 (U |X|Q|X |V
8 |V|O|T|N|R
9 |P|T|U|S|Y

A. 23,75,44,88
B. 42,43,98,13
C. 14,95,13,58
D. 11,78,20,87
Ans. B

51. (0.175_9+0.304_1) FAT

B. 0.4801
D. 0.4811

A. 0.4802
C. 0.4701

Ans. B

52. e Uh FEAT & G H 16 Sisd W
RO JEl 37T & S 36 §&IT HT 6 F [T
H % 4 "eTd U ATAT g, df T&IT Ad S|

A 4 B.5
C. 6 D.7
Ans. B

53. gfe @
Vx+5-x

1 FIf|

A1l B. 2

C.3 D. 4

Ans. D

54, afy OB+TV2 —a+by6, & A 2 @
J108 ++/50 b

AT AT I |

A. 9 B. 19

C. 38 D. 42

Ans. B

55. Ife & IV HT FGAIT-qIeh 3qeh A

& (5/2) & dF FIT &7 A AT HiAT|

=5, 8, a ‘X & AT

A. 10° B. 15°

C. 20° D. 30°

Ans. D

56. Ifg & THeIT & TM3HT 1 3fequrcd 9:6:4
& ar 39 e & e T &
A. GHEIOT B. 3if&& ot

C. ¥l 10T D. g8t 717 &
Ans. B

57. Gl & Te qlieT # 10% 3% ured fBHe
4T 50 3T ¥ 3erol gt | afe 9 40%
37 YT T §, dF 39 30T 3R & 25 3
3k gred gl §| uden & faw sl 3w

FaT 872

A. 250 B. 200
C. 150 D. 75
Ans. D

58. T ¥ H 1039, 2 TUF dAT 1 39T &
R §] 10 39, 2 39T aA1 1 T9F & b
FT Hed HAT: 15 : 8 1 1 & 3qurd # §| IS
fRrerept &1 For FEAT 273 ¥, o Tt fRerhi
Sl Hod (T H) FAT glam?

A. 1008 B. 924
C. 1102 D. 1218
Ans. A

59, fafeT 6 ollcy Rl B & 3 iy et A
fAemar & dar Afga 15 oex ReT B &/ 8



el el A fAerar §| e o & Rer B
o el &I & 3Heure &7

A. 26 : 25 B. 51 : 32
C. 46 : 45 D. 34 : 25
Ans. C

60. 9 HAFTT Ui TEIBT FT AT 41
g o7 FEant # ¥ 99 Ear 4 g7

A. 37 B. 44
C. 46 D. 45
Ans. D

61. Th TR W 12.5% & a¥H T &
HATUNOT sATST Heltlel & 5/4 §| §#T @™

(@t &) FaT 8?

A. 12.5 B. 8
C. 10 D. 15
Ans. C

62. I & A & T A, AhT HT H
62% &, o o GicRrd a1 §?

A. 43.42 B. 37.45
C. 1,29 D. 71.35
Ans. C

63. Ush Udell 1 3fhd Hed 3510 ¥ ©|
GIIER 40% &1 BT Sl & AT 17% o1
HAT §| I AS e T & 7S g, ar e
gfcerd &2r glam?

A. 63.8 B. 95

C. 85 D. 74.6

Ans. B

64. %+—4 VO25 ot Fmer g7
4256

A. 1.75 B. 1.25

C. 1.6 D. 1.5

Ans. A

65. M Th &R A QW A A N & 60%
A AT o g| I 9 FAee 37 AR
dr 24 ot & QU A §, o N bl 38
e A Fhdel feaT oam?

A. 36 B. 39

C. 42 D. 34
Ans. B

66, T osdr 42 fhar/aer &1 afa & &
IS Tl TET g 98 T Ash 11 fhaAr & 39
W 8 fAde & o Tohar | 84 AL & g
JT A F v ag fhdar g#7g ([Aee #H)
oaT?

A. 138 B. 142
C. 156 D. 176
Ans. D

67. Ig @ A% &Mar § T IR qann
yfafea &dr qusr & for 3iga feaa @¢
fddd 8| 38 3IN@ & HEgIT A 3R
fAfFafaf@a war & 3 g

Average hours/day spent watching TV /

& ua A e stwa e wfaftes

4

35 3 S5

; /\/‘\\
25 25 25

2 2

15+ 15

1
0S 05

0

12 14 16 18
Age /3H

fra 37 A fhR &dr & ¢El # 98 A
gc faara g7
A. 17 B. 15
C. 13 D. 18

Ans. C

68. Ig Y@M AH gfar & fF fheRt ganr
gfafea & qusr & fovr 3faa feaa @
fard §] s9 3@ & Iemad H AR
fAfFafaf@a g8t & 3R &



Average hours/day spent watching TV /
& duw A faar v sea o efaftw

12 14 16 18
Age/3H
14 a¥ & §<ai 3N 18 a¥ & Fwdi g@nrr
gfafee &t S@a & 9 a1 "el &1 3egard
T 8?
A.7:3 B.
D27 D.
Ans. B

3:7
7:5

69. Tg @ IH gar ¢ fF ARt ganr
gfafea & ¢@ar & fav g fraa ¢
foard &1 3§ 3@ &1 eggeT HO3HN
fafEafafa weat & 33 &

Average hours/day spent watching TV/
& dma A R o teaae efafte

12 14 16 18
Age/3H
15 a¥ & Feai & Jolar H 17 auig sl
carT gfdfead &dY q@a # f9ary = gct &

q&ar g A+ g

A. 25% B. 20%
C. 16.7% D. 30%
Ans. A

70. ¥§ Y@ A &ar ¢ T fHRART ganr
gfafeer &dr d@ar & fov 3ied fras =¢

fgara & 59 3@ & ewa HY 3R
AfFafo@a aeat & 39X g

Average hours/day spent watching TV /

e = # frar ot stwa e wfafld=

12 14 16 18
Age/3H
16 9¥ & §Td & HTAg & dr ¢@a & faw
fFaer g @ W &7

A. 25.5 B. 25
C. 21 D. 22.5
Ans. C

71.@%@%@@%9#3@
AT §| 3aH oo (HEA A) AT |

A. 3 B. 6
c, 12 D. 18
Ans. B

72. Ush gd T &Ahe 38.5 gaT HEHET g
$HE I (HEHRY H) AT HY|

A.7 B. 14
C. 10 B. 20
Ans. A

73. 7 GEHRY <OrE dTel Tk AN & T
&1 ol &Thel (I FEAR &) AT A

A. 105.5 B. 99
cC. 77 D. 115.5
Ans. D

74, AXYZ & Y WX FHAIUT g| TG mezZ =
30°, dr (cosX - 1/V3) T Al ATd Y|

A. 3/2 B. 1-v2

C. (4-V3)/2V3 D. (V3-2)/2V3
Ans. D

75. AABC & IuT B &l A9 90° | I sinA
= 15/17 3R AB = 0.8 HEHET &, ar ¥
BC &r dars (e &) Far g7



A. 1.5 B. 1.7
C.2 D. 2.5
Ans. A

76. qifcfRAuedr siicg (PNs) Aefoi@a & &
e ¥ "@afaa g2

A. AT &1 GATRT At

B. facelt gEamrd fAdere

C. HgFa Usg A HRIHH

D. SRISETRY | gadhich

Ans. B

77. fAFfaf@d # @ forw a¥ # s @
e (FCI) Tafadg foear s=ar ar?

A. 1955 B. 1960

C. 1965 D. 1970

Ans, C

78. HAITH e & dAlcqd gl

A. gaT3T & TGF T & 3R Sgalr

B. &aT3T &7 g ol & e

C. GaT3il &I §ga el afd & ager

D. ar3ft & & &7 dGelell

Ans. D

79. AFATAf@d & & HIA-AT FAIR IBT AGT &
de X Ryd 7@1 §?

A. AR B. 9caT
C. gRIoTHET D. d@a3
Ans. D

80. TFAfoi@d & & ford gsTurahrelld Tl &
Wﬁﬁw%ﬁvmﬁéﬁwmw
i fhar arm ar?

A. FgAsigar B. gscar

C. Frelear D. dogas
Ans. B

81. Arfaf@a & & Si9-ar TARR-ITT FAgeT
Alg AT & TS 78T 872

A. oIt B. TAE

C. feqedmeT D. 31gey

Ans. B

82. SiTT ¢ &7 dIEdidss TEUTH fhd AT

ST 87

A. TTAATY B. y¥cd
C. AT D. 3RkseafA
Ans. B

83. 7 d ARSI 8 STel FFAST ol TSl
fore g & 11-13 fe@ray, 2017 &1 fowar ar?

A. T B. ARJ
C. af&or 3nfeT D. 3iteefo=r
Ans. B

84. dAdeX 2017 H HFYeod 23 d hlelahldl
e fhea Aglcaa (KIFF) & 3iaiser
e Toal Aol & 3dead hE fhew @t
q4Ass fihed 1 ERR fAer?

A. A 9

B. TaTe

C. g9

D. 558 3R AT 5 fRamel

Ans. A

85. Ulfehedid frd@ el UTsh TEHT I0RIST
qAT?

A. 1948 B. 1956

C. 1971 D. 1975

Ans. B

86. PrIfaf@d & ¥ FiT AT dcg Fa™+
HUTIcHS &7

A. Tl B. Oifsas

C. FaNIT D. 3iadsleT
Ans. A

87. g Alse AFaad # ¥ frad wefta
g7

A. vaH giser f@eeia

B. afdehT fgud

C. FaT & IRATONHRIOT FI IFTURONT

D. gz 1 gE T

Ans. C



88. FfFafafad & ¥ FieT AR dfgere $r
Y gAY & A A3 B/e?

I. T&T

I1. eI SR JAT aTosy

I11. St

A. Fad I

B. dael II

C. gt 1ayr 11

D. I, IT aur III @&t

Ans. D

89. IR #, o murderTer ¥ as fohder
39 & OT SeRIT 3T T g7

A. O H#18 B. dAl AE
C.ar ay D. = Radere
Ans. D

90. ag Wihar forEs & Slig 3eish gohst H
T ST Wehell § AT Tcdeh gehsl #T Sid &
fasrfa & S g, __ Fgdrdr gl
A. GrRsCa

B. Hpolel

C. i) Hre

D. #I1$ fdehed HEY 7T &

Ans. A

91. HiT AT AHSIIAH AT JAT FST HI TS
H geftr aear g?

A. ey Fasgas

B. uredityr fassaias

C. edfase faarsaas

D. 3l Asrsaias

Ans. A

92. fTguFsX 2017 &, ‘QiurAddEs’ THS
AT depiad Hr 18 A 8T 3652
JEUTaEAT # WHATISIH GI&T Yl il 8| 34
AYSTeT T AN HhaH TG Ao i dAT
Fa1 §?

A. 5,00,000 ¥

B. 7,50,000 %

C. 10,50,000 ®

D. 12,50,000 ¢

Ans. B

93. = E@NT oI e & HaH Tgel qul
faegd #Arciargs Sgret # FE ghR HiT Jeh
&1 39T foear = g7

A. fSis-sraa dedr

B. fafga-3masr it

C. [Si-m el

D. ds5-ufds el

Ans. B

94, FqAayr 2018 &, 3o UAA  Irelelr
(vdag) & 80 oM@ ARl & IR fham g
wdiars & 3aeTa et 3feas if@e dea
$r fhaar Tfr wrca T Fhd 87

A. 4000 ® B. 5000 ¥
C. 10,000 & D. 15,000 &
Ans. B

95. 27 SaY 2018 &I, Soaciaay o
e SteN ey Fater & Afger Fareey qur
TITEAT & ToIT HiT O g9gdT aihIadd @ g2
A. T TaIfRATT

B. #AfgeT TaTAATA

C. AR FarfdATT

D. AR eafed

Ans. A

96. fordlT eafer T Fr aTargery Tur 397 300
Hrey/Ahs §| sHHT dd FIel (Fhs H) A
|

A. 900 B. 0.02

C. 450 D. 0.01

Ans. D

97. eafey a&c3it & & 3cUeel glall
gl

A. g§dd B. ThEATT

C. B D. &YHATT



Ans. D

98. SIaHAST & SAfds gcsh &l
g1 &

A. f¥sfta aar wsfta a&qe

B. el a&U

C. @it

D. argHsd

Ans. B

99. AFeT@d # & &l AT HUT T 87
A) WE & 2017 des &F Al AISRAT
Fr ASETAT |
B)2017#§ﬁﬁ3§‘r?—’ﬁwﬁ3@?—r§§m
aay & fov de|

C) 2017 # ofsiieT SIFd UeT &H = 3Nfead
Oferea & forw @el|

A. %ad B

B. shadl C

C. A 3R B gt

D. ®S Tahed TEN 8T &

Ans. D

100. TgévATS H, Tﬂﬁﬂé?
T & @ e ot 1 9 e S
gg 9T gfed fhdsl @l & [asera geft, ag
FEar RuiRa Feh|

A. <table></table>

B. <tr></tr>

C. <td></td>

D. <th></th>
Ans. C



